U$2

<
A MEGAS8-P B .
—1d Pce(/ResET) PCO(ADCO) [—22 L o
24 2 3
- PC1(ADCL) |52 .
21 & PC2(ADC2) |22 >
S5 AREF PC3(ADC3) |22 - N
» AVCC PC4(ADC4/SDA) |2 . 3
PC5(ADC5/SCL s
“n ( /SCL) i E
il O’_L L9 1 pegxraL/moscy) _g 5l o
| 2 o |
o 10 { pp7(xTAL2/TOSC2)  PDO(RXD) —g % 8%
_I PD1(TXD) 4 o ==
. PD2(INTO) | - o
G
GND PD3(INT1) [—2 — &
. PDA(XCK/TO) (=3 14 X
vee PDS(T1) (i 1 P
PDG(AINO) |5 16
PD7(AIN) |13
PBO(ICP) %’
PBL(OCIA) |12 >
PB2(SS/OC1B) }? ] Q
PB3(MOSI/OC2) [—2
PBA(MISO) [— o
PB5(SCK) 12 -~ oo|
IC1 o
Q
< x g
6 1 scL sqw/out Us1
S2 S1 S3 5
m m m SDA _ VBAT
3 1 3 3 1 &
4 T2 4 I T DS1307
1C2

L 4 |




